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Grab a Bell Ringer

Monday 2/11
Let f(x) = 5x — 2, g(x) =x+5, and h(x) = 3x* + 2x Compute the following:
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Correct Ch 10 Review
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Unit 10 Similarity Review: Transformations, Dilations, and Rotations

1. A person 63 inches tall casts a 72 inch shadow.
At the same time of day, alamppost casts a 216
inch shadow. What is the height of the lamppost?

K. X :
-(‘2;]-;: 20 |64 in

@2 These triangles are similar. Solve for x

’2% \5 @

24 b
Solwve the following proportions
2 3o L &7 s 218
— x4+ 4 24 10 x
T 4) 2(Xt) Yy = W% 20%=140

TK-2% =3x+ (2 ‘7(.:\1? @
qf =40
. Us K o s to find the height of the 7. Find x in the figure below,
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9. A building casts a shadow of 116 feet. A 20 foot flag pole near the building casts a shadow of 40 feet. How
tall is the building?

T
T 0 e TS5
_ -l .
@ 10. The dashed-line pre-image has been transformed to form the solid-line image. Ar
What is the scale factor of the dilation? Explain your reasoning.
K :.,L._ - ﬂ‘ = % { = j >
P2 =3 K.
il T G4
N v ©(9,-12)
11. Find the scale factor of dilation given B (6, 10), B’ (9, 13).
1 9 15 2 =
= - 0OF = = =
K ‘%T L B8~ 5 K=Zual|5
12. Find the image of Q( 4, 9 ) aficr it is transformed by the dilation k = 3
{
Gz =0 axz=21 (Q'(\2,27) »
@13. The Quadrilateral LAMB has vertices : o
(-2,1),(3,1),(-3.-2),(2,-2). Drawa - T 1
dilation with a scale factor of 2.5 and a center i I
at (0, 0) 3 Lv. : — — ,.'\ -—;&'!&‘_L
LI( _5)2'6> i Ammy, 7 / .
11015, 2.5) fpiachaniasiers
MI (—d—-’ '5; '-L;\) b_h]' | '_.' )
HHHFH S
BLl5-5) '
14. It PQ i%22, QR is 25, and ST is 30, Find PT a 72 ¥ X¥30
X 7 k5 12 o =
‘rAQ " 41 UT' Qc; dli
%
o N Hx=s 2k D)
5 g5 Yy s L0
15. Find the width of the river. 1 A 22X +
25K =0
X= 24|
Tox X
o < K MEX
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16. Given the following figure, find the value of x. 21-X
["I 2[ b Zi-X W%:qu{'Hx
-\ 2b=—\4X

@

17. Given the segment below AB draw the dilation AB’ with the center of dilation A and the scale factor of 1.5.
Then state the length of AB'.

A L\(m B 2m 1??\

W

looum

@ 18. For the given shape, draw a dilation centered at D with a scale factor of % .

D ¢ c

[15 [

A 2 B

2cm

19. In the parallelogram ABCD from above, what are the dimensions, in centimeters, of the original figure and
what are the dimensions of the dilated figure?

Original Figure: 5% 2.

Dilated Figure: 15 x |

@ 20. AA'B'C" is a dilation of AABC. If O is the center of dilation, what is the scale factor? AB = 24 and A'B’ = 15.

A/ ‘
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21. Dilate AABC with the given Center D and a scale factor of é

D
@22. For the graph, describe the composition Q_{ tgmq\ e
of transformations that map AABC onto AA'B'C’. ,,_\ (; g
- Cofrte @ BiED
LS A
t o "y . . 8'(%2
e - 20 eal g WO
: I -\_.'.'n -2
Rofate @) ditatew| k= Z/A

@23. ABAT has vertices B(2,2),A(5,1) and T(1, —3). Sketch the image and list the new vertices of

B',A',and T' after it has been reflected across the y-axis and dilated by a scale factor of 2. Give the new
coordinates.

B"4,4) A:ﬂhf 1) and T'(-1,-b)

Cabohon  Dilaton
1 H: ACAD A0
N e 2(-2,2) 2= )
Iy ‘—r-':t-:_'l. :, ;I1 IV .1‘ T T'! (‘J\\'%) T ('2{"5)
N ‘\jl_g// H-HH
N
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Similar Polygons...

Same shape, not the same size

Corresponding angles are mm[
Corresponding sides are P;Q@[ﬁﬂ}ﬁ}
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Corresponding angles:

g
Co‘?resp\)'\(l)ndlng sides:

QR«!, XN

February 11, 2019




6 - 10.2 Similar Polygons.notebook February 11, 2019

Are the p0|ygons S| m”ar') If so, write a similarity statement and

give the scale factor from small to big

4
2 ? 2m 10m m
2= 2 sm
2 - am
(‘2' 1m 6m
2m
o
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Are the pOIygonS Similar? If so, write a similarity statement and

give the scale factor from small to big

15 5_ M\zs = '/ 1‘0‘\_

119 / =119

cimilac

# Sthes Prop.

4 ;'24"-._'-5_ ‘Z\‘Z *S-\—l% L-LQ; \Tﬂ
212 / \ 212 ‘[ M
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Are the polygons similar?

b Mos?t/

February 11, 2019

If so, write a similarity statement and
give the scale factor from small to big

11
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Are the pOIygonS similar? If so, write a similarity statement and

give the scale factor from small to big

No+ Sumlax M
A 32 B - 12 R |23

2 i
18l \48 Zo
P

D 32 C N ﬁ- :‘5
£ Mg\es? VvV i
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Are the pOIygonS Similar? If so, write a similarity statement and

give the scale factor from small to big

15

12
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The polygons are similar.

1. Find z
2. If m<J =85 degrees, find m<P
=~2.5 I

2 e B
35° £ x2.6> 6/¢v =
R S @-:ﬁt

228 Vos

M - y =32
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The polygons are similar. Find m.

B 24
13 X
12x1.6 s 15
D 10 C m )
o Z 15 Y
| g =\P
4 €= \N
\¥0=10

February 11, 2019
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due Wednesday

Secondary Math 2 Name

10.2 Similar Polygons Date Hour

State if the polygons are similar.

1) 2)
4 40
[ ] T O
15 15
I I |
6 6
40
|
4 16
W
3 8
20 '
[] ] 16
30 30
1 ]
20
3) 4)
8 43
[ _]
7
8 54 54
24
70° 0 ]
2 2 48
(3]
24 8

6)

16



6 - 10.2 Similar Polygons.notebook

7) 8)
24 16

24
8
S N
24 16
4
a8

The polygons in each pair are similar. Find the scale factor of the smaller figure to the larger
figure.

9) 10) / b
25 |
15
8/ 78
f 12
30 10
18
30
11) 12)
6 [
3
42 432
10
5
6
35 36
35

The polygons in each pair are similar. Find the missing side length.

13) 14)

16)
12 18 18
6

2.

February 11, 2019
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